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Homework Practice

Make Predictions

The tally chart shows the results of spinning the spinner 50 times.

1. Make a prediction for the next
number.
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2. If you were to spin another

10 times, do you think the

outcomes would be more even?

Explain your answer.

3. There are 25 fruit candies in the

Outcome Tally Number
2 S 15
4 it 10
6 HH 1 12
8 Mt 13

bag: 8 orange, 10 lemon, and
7 strawberry. What flavor would
you be most likely to pick? Explain.

(Lesson 11-5)
Use any strategy to solve.

5. Jose had 25 cents in his pocket.
What were all of the possible coin
combinations he could have had?
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4. If there were 7 orange, 7 straw-

berry, and 10 lemon fruit candies
left in the bag, which would you
have a better chance of picking:
orange or strawberry, or lemon?
Explain.

. Mr. Bolton was building a fence.

He bought 20 lengths of fencing
that were each 8 feet long. The
perimeter of the fence was

145 feet. How much fencing did
he have left over?
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